1/0 do/dN,

Ratio to ATLAS

1

=
<
BN

1072

1073

107

[EEY

0.5

D

900 GeV pp

Charged multiplicity(NCh >20, p_> 0.1 GeV)

m ATLAS
--=-- Pythia 6.425 355
----- i1 Pythia 6.425 356

Pythia 6.425 ambtl
——— Pythia 6.425 z2

Soft QC

'_

mcplots.cern.ch [arXiv:1306.3436]

Rivet 3.1.0, = 7.3M events

:l | | | | | | | | | | | | | | | -F

= ' ' ' I ' ' ' I ' ' ' I ' ' ' 5

= 32
#Q%‘QE;@QE - 1t

L - .[_;| .

— V #Qﬂ —

B ‘i-\ﬁ;fgé.:;“ |

| E\\ —0.5

| . . . | . . . | . . . | R : |
20 40 60 80 100
N



	Contents
	Page 1


